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QUESTION 1

Which of the following would be an entry criterion into site acceptance testing for the air quality monitoring system?
A. That the code written to fulfil the requirement to monitor carbon dioxide levels has been 100% path tested.

B. That the functional specification accurately reflects requirements R1 and R2.

C. That the system has been tested at levels of oxygen usage well beyond anticipated personnel levels.

D. That the requirements for temperature control have been signed-off.

Correct Answer: C

QUESTION 2

Which one of the following test tools would you recommend for the E2E phase.

A. A configuration management tool to ensure that all user-stories have been properly archived.
B. A test design tool to create the test cases as efficiently as possible.

C. A performance test tool to check that anticipated loading can be handled.

D. A modelling tool to verify the stock exchange pricing structures.

Correct Answer: C

QUESTION 3
Which of the following provides the best example of a product risk leading to a project risk?

A. The signalling systems may have more defects than anticipated, leading to the need for more retesting to be carried
out.

B. There may be unexpected lags on the network traffic communication, causing drivers to slow the trains down
unnecessarily.

C. The new development staff may require training for this type of system, which, if not carried out, may lead to an
increase in the number of defects introduced.

D. The budget may need to be increased significantly during the project, otherwise there may be delays in the delivery
of the system.

Correct Answer: A

QUESTION 4

Which of the following reviews would you recommend to address this issue?
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A. A walkthrough of the requirement specification, to check for errors.

B. A management review of defects logged and cleared to see if defects are being addressed correctly.

C. A technical review of the industry standard routing protocols to see if they have inaccuracies in them.

D. An inspection of the code for this part of the functionality to try to localise the defective parts of the code.

Correct Answer: D

QUESTION 5

You need to test that the rules have been correctly set up in the configuration table, according to the specification.
Which one of the following test design technigues would be most suitable for this?

A. Data flow testing.

B. Statement testing.

C. Decision table testing.

D. Boundary value analysis.

Correct Answer: C
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